5 5 ‘ 5¢ w w w
% £ ngcl022K ] > [ K20=8639 56.3 dK20=0.017 ]
£ 6L  pix=0.233 std= 9.000 3 w6 E . Kext=8.504 79.8 dKext=0.017 3
U b MUO0=22.27--> 22.27 I ]
§ 70 .Kl4= 100170 E S 7E 3
Ke) E E| c £
] E E @ E
- E Q E
£ 3 g 8- 3
i £
o = E
e E o 9F E
5 g E E
IS, E E ]
£ E E 10}/ 3
e dotted: +/-0.5 STD ] 3 ]
a 11 E | | | ] 11 E | | | 3
0 50 100 150 200 0 50 100 150 200
circular radius in arcsec (aperture/2) elliptical radius in arcsec

sky

-100 -50 0 50 100 -100 -50 0 50 100

/home/eija/MASTER_DAT/nirsos_kcali2011.dir/ngc1022K_calibration eija@noita.oulu.fi Tue Mar 29 21:11:09 2011



